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please be careful not to write anything extra on the answer sheet.  
3. If you want to change an answer or remove any marks, use a plastic eraser and be sure to remove all marks and smudges.  
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AOS exams on your mobile number.  
6. All questions are compulsory and there is no negative marking. 
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1. Two bus tickets from city A to B and three bus tickets from city A to C cost Rs.77, but three tickets from city A 

and B and two tickets from city A to C cost Rs.73. what are the fares for cities B and C from A? 
a) Rs.4, Rs.23  b) Rs.13, Rs.17  c) Rs.15, Rs.14  d) Rs.17, Rs.13  

 

2. What number should come next in the series? 

0, 7, 26, 63, ? 

a) 124   b) 125   c) 93   d) 103 

 

3. Find the odd one out 
a) MPRU  b) FIKN   c) RUVY   d) JMOR 

 

4. Find the term which is different from others . 
a) CDe  b) YZa   c) GHi   d) STv 

 

5. 947 is related to 49    16    81 in the same way as 862 is related to : 
a) 04    64   36  b) 36   64   04  c) 64   36   04  d) 04   36   64 

 

6. A girl introduced a boy as the son of the daughter of the father of her uncle. How is boy related to girl? 
a) Brother  b) Son   c) Uncle  d) Son-in-law 

 

7. If the alphabets are written in reverse order after interchanging alphabets from ‘D’ to ‘L’ with those from ‘R’ to 
‘Z’ respectively, which letter would be midway between W and E in the new order? 
a) Z   b) N   c) D   d) no such letter 

 

8. What comes next in the given sequence? 

208  CIV 52 XXVI ? 

a) 13   b) 20   c) 5   d) 37 

 

9. Find the maximum number of diamonds in the given figure. 

                                                                                                                                                                                                                                             

 

a) 35   b) 39   c) 42   d) 40 
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10. Rishab is heavier than Ishan but lighter than Kishan. Vishnu is lighter than Kushal and Ishan. Aman is heavier 

than Arya but lighter than Vishnu. Kushal is not heavier than Ishan. Who is the heaviest? 
a) Kishan  b) Rishab  c) Kushal  d) Aman 

 

11. The age of the father is twice the age of his two children. After 20 years, his age will be equal to the sum of the 
ages of his children. Find the age of the father. 
a) 20 years   b) 40 years   c) 60 years   d) 45 years  

 

12. In a certain code ‘TRIPLE’ is written as SQHOKD. How is ‘DISPOSE’ written in that code?  
a) DSOESPI  b) ESOPSID  c) CHRONRD  d) CHRONRF 

 

13. If a : b = 2 : 3 and b : c = 4 : 3, then find a : b : c. 
a) 2 : 3 : 8  b) 8 : 12 : 9  c) 2 : 3 : 9  d)  2 : 3 : 12 

 

14. Rohan wants to go his friend’s home. He walks 50 m towards south and then turns left and walk 40 m then again 
turns to left and walks 50 m to reach his friend’s home. What will be the shortest distance in which Rohan can 
reach his friend’s home? 
a) 10 m  b) 20 m   c) 30 m   d) 40 m 

 

15. Which number come next in the series 

3, 7, 23, 59, ___. 

a) 123   b) 112   c) 107   d) 75 

 

 

 

 

 

Answer key 

1 - b 2 - a 3 - c 4 - d 5 - d 6 - a 7 - b 8 - a 9 - d 10 - a 11 - b 12 - c 13 - b 14 - d 15 - c 
 


